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I. Define the following terms. Give examples whenever possible (30 points)
suprasegmental feature

diphthongization

discourse marker

negative concord

tense vs. aspect

endocentric compound vs. exocentric compound
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II. Answer the following questions. (70 points)

1. With the three constituents given in (1), there should be six possible combinations
as shown in (2), but only the first four in (2) are attested. Explain why this is the
case and what implications this has for first and second language acquisition. (20

points)

(1) a {student, physics, long hair}
1 2 3
(2) a. 123: astudent of physicswith long hair
b. 32 1: along-haired physics student
c. 213: aphysics student with long hair
d. 3 12: along-hairedstudent of physics
e. 23 1: *aphysics long-haired student
f. 13 2: *a student with long-hair of physics

2. What is a yes-no question in English? What are the rules that govern the formation
of a yes-no question? Do the same rules apply to other constructions in English?
(15 points)

3. In everyday speech, consonant clusters are often simplified. The /d/ in the phrases
listed below (the underlined part) is often dropped, but to different extents when in
different linguistic environments. Dropping rates among a group of English
speakers are presented below. Consider the data and discuss what linguistic factors
might motivate the differences in dropping rates and whether these factors are
weighed differently. (10 points)

“burned up” 13%
“cold out” 43%
“burned coal” 62%
“cold cuts” 87%



Bl i 260 K2 104 2 F EATIE AL KXXA

4. English cleft construction such as “It was that ” is used in certain
discourse contexts. Consider the following conversations involving a cleft
construction.

A: Did Jenny claim that she saw Tom Hanks last night?

Among the responses listed below, B1 and B2 are appropriate, but B3 is not. Please
discuss why such is the case.

B1: No, it was Bradley Cooper that Jenny claimed she saw last night.
B2: No, it was last Friday that Jenny claimed she saw Tom Hanks.
B3: No, it was Jenny that claimed she saw Bradley Cooper last night.
(15 points)

5. On December 19, 2014, the United Daily published an article entitled " #E{T—1&
XX BYEHE | MEBEE=E TIE ? (“Doing a V-ing action™: Are you afflicted with
language cancer?) The article comments on the spread of the sentence pattern and
considers it a negative influence. The first part of the report is attached below. As a
linguist, please comment on the phenomenon or the related criticisms toward
“language cancer” using your knowledge about linguistics. (10 points)

http://udn.com/NEWS/NATIONAL/NATS/9139246.shtml
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